= ‘HALTEB

— CORPORATIONN

NitroFill Mobile Inflation System

89NT6

SPECIFICATIONS
ASSEMBLY

OPERATION

SERVICE Please read this
manual before carrying
out any assembly or
service procedures.

www.haltec.com l




HALTEC

ICORPORATIONMN

Contents

1.0

2.0

3.0

4.0

5.0

6.0
7.0
8.0
9.0
10.0

Introduction

1.1 This Manual

1.2 NitroFill Mobile Inflation System
1.3 General Specifications

Assembly
2.1 NitroFill Mobile Inflation System - Exploded View
2.2 Control Panel - Rear View

Preparation for Use

Control Panel

4.1 Switch and Control Functions
4.2 Volume Adjustment

4.3 Battery Charging

4.4 Auto-Off Power Save

Operation

5.1 Operating Modes

5.2 Standard Mode 1

5.3 Manual Mode 2

5.4 Pressure Gauge Mode 3
5.5 Coin-op Mode 4

5.6 Tire Shop Mode 5

5.7 Tire Shop Mode 6

5.8 N2 Filling of New Tires
5.9 N2 Conversion of Existing Tires
5.10 Topping Up in Mode 6

Troubleshooting

Wiring Diagram

Warranty

Initial Verification Certificate

Glossary & Conversions

www.haltec.com



HALTEC

ICORPORATION

1.0

1.1

1.2

Introduction
This Manual
Congratulation on selecting a NitroFill Mobile Inflation

System. This equipment has a number of unique features
that are explained in this manual.

Throughout the manual the following symbols will be used,
this information is for your safety and to prevent damage to
this product.

iN CAUTION iN WARNING

The hazard or unsafe practice The hazard or unsafe practice

could result in minor injury could result in severe injury or
death.

NitroFill Mobile Inflation System

Your NitroFill Mobile Inflation System offers a portable
solution for Nitrogen filling of tires. A dual pneumatic valve
controlled by an electronic circuit controls the inflation and
deflation process.

www.haltec.com



HALTEC

CORPORATIOMN

1.3 General Specifications *

Operating Temperature

(without heater)
Relative Humidity
Max Inlet Air Supply

Recommended Inlet
Supply Pressure

Operating Pressure
Minimum
Maximum

Accuracy

Display Increments

Units of Measurement

0°C to +60°C

32°F to +140°F
100%

150 psi, 1035 kPa,
10.3 bar

10 psi, 70 kPa or

0.7 bar above the
maximum set pressure
of the unit.

5 psi, 35 kPa, 0.3 bar
145 psi, 1000 kPa,
10.0 bar

+/- 0.3 psi, 2 kPa,
0.02 bar

1 psi, 5 kPa, 0.1 bar
psi, kPa, bar, kg/cm?

*Note: Specifications may vary for non-standard equipment.
Contact service agent for further information.

A WARNING

To avoid the risk of personal
injury, especially to the eyes, face
or skin DO NOT direct the N2
stream at any person/s.

i\ WARNING

This equipment is not intended
for use by children.

To avoid equipment damage,
never exceed the maximum inlet
pressure of 150 psi, 1035 kPa
or 10.3 bar.

www.haltec.com



HALTEC

ICORPORATION

2.0 Assembly

1.

Unpack the carton and identify the components.

AIRTEC PART NUMBER DESCRIPTION QUANTITY
89NT6 Trolley c/w Control Panel 1
16.0904 Base Frame NT6, P/coat, GY 1
16.3205 Accessory Box NTR, P/coat, BL2 1
21.0001 Insert Box, A3, Red 2
21.0002 Insert Box, B3, Yellow 1
61.0290 Hose Ass, 8m Outlet c/w Close Chuck, NPT 4
42.0002 Charger, for 12V battery pack, US 1

2. Fit the base frame with the 2 M8 x 20 socket cap screws and nuts provided.

3. Fit the accessory box to the front of the control panel with the screws
provided.

4. Connect the Nitrogen supply to the 1/4” NPT inlet located in the base of the
control panel.

5. Connect the outlet hoses (up to 6 hoses) to the MIGNON couplings which
are located directly below the accessory box on the front of the control
panel. Place the hoses on the hooks.

6. Other accessories and valve caps etc can be stored in the small trays
located in the front section of the accessory box.

7. The left rear section of the accessory box is designed to store your DL,

B6 or C6 size promotional brochures.

www.haltec.com i



HALTEC

CORPORATION

2.1 NitroFill Mobile Inflation System - Exploded View

-,
-

21 ~

2 =

7 |
(3]

i &

f20 |

+ f
1)
(s)
{ & ]
(23 )
(13)
(21 )
(12}

(27 }

(2a )

TTEM NO. ITEM CODE. DESCRIPTION ar. TTEM NO. ITEM CODE. DESCRIPTION ary.
1 13.0911 CONTROL PANEL FLANGE PLATE 1 15 45.1046 STOP SWITCH 1
2 16,0303 CONTROL PANEL CASE 1 16 48.1029 DC POWER JACK 1
3 16.0304 CONTROL PANEL CASE COVER 1 7 51.0426 M5x16 CSK SCREW 4
4 16,0305 ACCESSORY BOX 1 8 51.0453 M5 HEX NUT 4
5 16,0902 FRAME 1 19 51.0460 M8x12 SOCKET CAP SCREW 2
6 16,0904 BASE FRAME 1 20 51.0462 M6 WIZLOCK NUT 4
7 16.0903 HOSE HOOK 2 21 51.0470 M6x25 SOCKET CAP SCREW 8
8 21.0001 A3 INSERT BOX (RED) 2 22 51.0471 M6x40 SOCKET CAP SCREW 4
9 21.0002 B3 INSERT BOX (YELLOW) 1 23 51.0480 MBx25 SOCKET CAP SCREW 2
0 23.0446 LENS 1 24 51.0473 M8 HEX NUT 2
n 24.0102 HANDLE 1 25 52.0026 $25mm LOCKWASHER, DOME WHEEL CAP 2
12 24.0261 PNEUMATIC WHEEL 2 26 711071 DECAL 1
13 32.0004 RUBBER MOUNT 2 27 91.0304 MIGNON COUPLING 6
14 45.1043 MECHANICAL SWITCH 5

www.haltec.com



CORPORATION

2.2 Control Panel - Rear View

s ©
(9 N
11 )
14
(5)
I8
15 )
o}
P
(4}
o
11 ;7 ] ITEM NO. ITEM CODE. DESCRIPTION Q.
ioK, 1‘;; ) 1 16,0306 BATIERY BRACKET 1
{ 2 . ~ 2 16,0307 VAIVE BRACKET 1
w 24 |
6 - 3 410702 BEEPER 1
¢ = B 4 422000 IN-UNE FUSE HOLDER 1
W/ '27 / 5 42,2001 2.5AFUSE 1
6 431005 PCBSINGLE LCD 1
47 ) e ) 7 460001 NEVH BATIERY PACK 1
8 88216 M16 GLAND CORD ENTRY 1
9 51,0107 Méx8 SCREW 2
o) 0 51,0453 M5 HEX NUT 6
- n 51.0464 M4 HEX NUT 2
12 51.0468 M3.5616 SELF TAPPING SCREW 4
13 510946 M5 WASHER 6
14 51.3622 6 GAUGE PAN HEAD SCREW 4
15 520009 ANGLE TUBE CLP 1
16 62,1003 6mm TUBING 1
B i 621101 10mm NYLON TUBING 8
22 18 91.0431 M8 HEX FEMALE NUT 1
19 910621 HEX 112" NPPLE 1
20 91.0625 PIPE 1/2" NIPPLE 1
2 91,0630 BULKHEAD CONNECTOR 7
2 91.018 /2 PLUG 1
2 911021 10mm x 1/ TUBE FITING. 2
% 911022 10mm x 12 TUBE FITING 1
(25 - 25 91.1027 10mm x 1/4" 90DEG TUBE FITING 6
; \ 2 930718 6 X 10mm MANFOLD BLOCK 1
(
- 63) 27 95.3005 /2" DOUBLE FEMALE VENTED VAIVE 1
5 28 96.1035 1/2" VALVE BLOCK ASSEMBLED 1
B 21 )

www.haltec.com



HALTEC

ICORPORATIOMN

3.0 Preparation for Use

1. Although the battery is fully charged
during manufacture, some discharging
may occur during storage and shipping.

Prior to the first use, connect the battery A CAUTION

charger to the DC input jack on the Use only specified battery charger.
control panel. Connect to your wall Use of other chargers or adaptors
socket and charge the batteries as may cause damage to the battery

described in Section 4.3. The recharge pack.

time for a fully discharged battery is
approximately 4 hours.

The battery charger is not weatherproof
so the charger should not be used

outdoors.
2. Inflate the trolley tires to 30psi.
3. Check that the handle of the Fill control

valve located in the center of the
control panel is in the Stop position.

4. Turn on the Nitrogen supply to the
NitroFill Mobile Inflation System.

5. Turn the Stop control clockwise to
release.

6. Press and hold control circuit switch to

power up the unit. The equipment is now
ready to use.

www.haltec.com i



HALTEC

CORPORATION

4.0 Control Panel

4.1 Switch and Control Functions

=

(1) (=) Reduce final target pressure

(2) (+) Increase final pressure

(3 ((D) Control circuit switch

©) ) Stop switch

(5) ($53) Set Over Pressure (OPS) and/or Purge cycles (N2P)
(Save mode change)

(e (<) Inflation/Deflation start
(Save OPS and N2P settings and exit)

(7) (a-15v=) Battery charger DC input jack
( \\ ) Fill control valve

www.haltec.com l




HALTEDC

lCORPORATION

4.2

43

4.4

Volume Adjustment

1. Turn off the unit.

2. Press and hold the (—) and (<>) key simultaneously.
3. Turn the unit on, VOL will be displayed.

4. Adjust the volume using the (+) and (—) switches.

5. To store the settings press the (<) key. Further changes can be
made by repeating the above procedure.

Battery Charging

The system contains a rechargeable 2100 mAh
NiMH battery pack. The smart charger (P/N 42.0002) is
equipped with Delta V detection and safety timer function.

Connect the charger to the DC input jack located on the control
panel. When charging, the LED indicator is ‘RED’. When the battery
is fully charged, the charger will switch to trickle charge mode and
the LED indicator shows ‘GREEN’. When the charger output is
shorted, the LED indicator shows ‘RED’ and will blink.

Disconnect the charger from the AC outlet when the battery pack is
full or the charger is not in use.

Auto-Off Power Save

The NitroFill Mobile Inflation System is programmed to switch off
after 10 minutes after last usage. Restart by pressing the ((1)) key.

www.haltec.com n



HALTEC

lCORPORATION

5.0 Operation
5.1 Operating Modes

Special operating modes are now selectable via the
keypad during the power up sequence.

Available Modes are:

1. Standard Mode 1

2. Manual Mode 2

3. Pressure gauge Mode 3

4. Coin-op Mode 4

5. Tire Shop Mode 5 - Inflate tire first

6. Tire Shop Mode 6 - Always deflate tire first

All NitroFill Mobile Inflation Systems are factory supplied with Mode 6
Selected.

Mode Selection

To enter Mode Select, turn on the key switch and press the control circuit
switch. Then press and hold the (+) key during power up. Display will flash the
LCD test, sensor output data, software table ID, then *-1-'.

Press plus and minus keys to select the desired mode.

Save your selection by pressing the ‘OPS/N2P’ key.

Reboot will occur automatically and the selected mode will display
momentarily whilst rebooting.

If no selection is made, or you fail to save your selection within 5 seconds, the
device will reboot and return to the previously saved mode. The mode
selection can be changed again whenever required.

www.haltec.com i



HALTECG

CORPORATION

Operation within selected modes

5.2 Standard Mode 1

The device will operate as a standard Digital Tire Inflator. To
operate the NitroFill Mobile Inflation System in Standard Mode
1, a single hose with an open-type chuck must be used and the
Fill control valve must remain in the ‘Fill’ position.

Inflation & Deflation

1.

Set the desired pressure, refer to Section
4.1 for the function of each Switch.

Connect the hose to the tire, ensure the
hose is connected securely. Air leaks will
cause a error message to be displayed,
refer to Section 6.0.

The pressure in the tire will be displayed.

The unit will inflate or deflate the tire to the
set pressure. Periodically the process will
stop and display the pressure in the tire.

If the pressure in the tire is less than 2.9 psi, 20 kPa
or 0.2 bar, the process will not commence until (<)
the key is pressed, refer Section 4.1.

The scroll bar will indicate that the unit is
inflating or deflating, see below

When the set pressure is reached the
display will flash and the unit will beep five
(5) times. This will continue until the hose is
disconnected, during this time the keypad
will be disabled.

www.haltec.com



HALTEC

CORPORATIOMN

Unlike Standard Mode, in Manual
Mode there is no set point.

When inflating in Manual Mode,
the user must release the '+' key
frequently to check that the
inflation pressure does not
exceed the tire manufacturers
recommended maximum
pressure for that tire or the
pressure rating of any test tank or
vessel.

5.3 Manual Mode 2

The device will operate as manual inflator, persistently
displaying the actual pressure value. Press the (+) key
continuously to inflate, or the (—) key to deflate.

One of the main uses for Manual Mode is for Calibration
checking. A test tank can filled using the manual controls,
and a comparison made between the test gauge and the
inflator display at varying pressures. This testing is more
precise in manual mode, as unlike other automatic modes
There no tolerance around a set point.

Manual mode is not persistent after power down. Device will
reboot back to previously selected mode.

5.4 Pressure Gauge Mode 3
This mode is not used with the 89NTR, Mobile Nitrogen
Inflation System.

5.5 Coin-op Mode 4
This mode is not used with the 89NTR, Mobile Nitrogen
Inflation System.

5.6 Tire Shop Mode 5 - Inflate tire first
This mode includes the Over Pressure (OPS) and Nitrogen
Purge (N2P) functions.

To permit selective use of the (<) key, the automatic start is
disabled when N2P or OPS setting is greater than zero.

To enable automatic start, set OPS and N2P settings to zero.

The function of the ‘OPS/N2P’ key also changes. Only the
default Unit of Measurement is visible.

www.haltec.com



HALTEG

CORPORATIORN

Over Pressure Setting (OPS)

To set the OPS value, press and hold the ‘OPS/N2P’ key. Display will flash “OPS”
and the set value alternately. Press the (+) or (-) keys to change the OPS setting.
Save your selection by pressing the ((>) key. The OPS setting can be changed
again whenever required.

To inflate without OPS, set the OPS value to zero.

The OPS value adds to the final target pressure setting to give the Over Pressure.
For example: A final target of 32 psi, 220 kPa or 2.2 bar with an OPS setting of 16
psi, 110 kPa or 1.1 bar gives a sum of 48 psi, 330 kPa or 3.3 bar. This sum of 48
psi, 330 kPa or 3.3 bar is the Over Pressure setting for the tire. Using this example,
the operation is as follows:

Press the (<>) key momentarily. Inflation will commence and the display will flash
the sum pressure value (48 psi, 330 kPa or 3.3 bar) then revert to displaying the
actual tire pressure. Tire will inflate to the sum value, beep twice and deflate to the
final target pressure.

To prevent accidental use of OPS function, the OPS setting is not persistent after
power down.

Nitrogen Purge (N2P)

To set the number of purge cycles, press and hold the ‘OPS/N2P’ key. Display will
flash “OPS” and the OPS set value alternately . Press the ‘OPS/N2P’ key again.
Display will flash “N2P” and the N2P set value alternately. Press the (+) or (-) keys
to change the N2P setting. Save your selection by pressing the (<>) key. The N2P
setting can be changed again when required.

Press and hold the (<) key for 2 seconds. Inflation will commence and the display
will flash N2P. This indicates that the N2P function is activated for this inflation
cycle. Release the (>) key only when you see N2P in the display.

Tire will inflate to the final target pressure, device will beep once and deflate to the
N2P deflate lower limit setting, and then inflate to the final target pressure. If 1 N2P
cycle was set, then the cycle is now completed. If more than one N2P cycle was
set, the purge routine (deflate / inflate) is repeated according to the number of
purge cycles set.

The deflate lower limit default setting is 3psi. This setting is only adjustable via
factory software. Please contact your distributor for further information.

www.haltec.com n



HALTEDG

CORPORATION

To inflate to the final target pressure, without performing the N2P routine, simply
press the (») key momentarily for less than 1 second. There is no need to reduce
the N2P setting to zero to inflate without purging.

The N2P cycles setting will return to the default setting after power down.

The OPS and N2P functions will operate concurrently if set. The OPS occurs on
the first inflation cycle only.

5.7 Tire Shop Mode 6 - Always deflate tire first

This mode has been configured to optimize the performance of the NitroFill Mobile
Inflation System. This is specifically designed for N2 conversion of multiple tires
simultaneously. Top-off function can also be perform without changing settings.

The default NitroFill program will deflate the tire first, fill to set point, deflate again
to 3psi and finally refill to set point. The first deflation cycle is additional to the
number of N2P cycles that have been set. The auto start function is deactivated in
Mode 6.

5.8 N2 Filling of New Tires

When filling new tires with Nitrogen during the fitting process, the first deflate cycle
is skipped as the tire is already empty.

www.haltec.com E



HALTEC

CORPORATIOMN

5.9 N2 Conversion of Existing Tires

Recent tire industry tests reveal that the target percentage
concentration of nitrogen (N2) should be 96%. Testing has
shown that no significant difference was found by exceeding
N2 % of 96%.

When converting existing tires to nitrogen using the same
routine, the final percentage concentration can vary. This
variation is caused by many factors including variations in
the percentage concentration of the source and N2% of the
residual gas in the tire after deflation.

The NitroFill Mobile Inflation System is programmed to
achieve 96% (or greater) of N2 concentration in the tire,

, - _ i\ WARNING
Increasing the number of N2P cycles will increase the final _ .
percentage concentration of N2 in the tire. Each additional When using the OPS function,
N2P cycle will result in an increase in N2 concentration of the sum pressure must not

Yy exceed the tire manufacturers

approximately 1% (up to the source percentage N2 maximum inflation pressure.
concentration). This may be required for professional motor
racing applications and aircraft tires. This is not required for
passenger car, truck or bus tires.

N2 SOURCE % PSI DEFLATE NO OF N2P FINAL TARGET N2 %
FIRST CYCLES CONCENTRATION

> 99% 35 YES 1 97%

> 99% 35 YES 2 98%

> 99% 35 YES 3 99%

The final N2 percentage concentration can be periodically
checked using a N2% concentration meter.

www.haltec.com E



HALTEC

lcorPORATIONI

5.9.1 To convert existing mounted air-filled tires to nitrogen.

1. Set the final target pressure. To use the standard NitroFill program, it is not
necessary to adjust the OPS or N2P settings.

2. Connect hoses to Tires.
3. Turn the Fill control valve handle to ‘FILL’ position.
4. Press (<) key for 2 seconds. “N2P” will appear in the display.

5. When the NitroFill purge cycle is completed, the unit beeps and the target
pressure flashes in the display.

6. Turn the Fill control valve handle to ‘STOP’ position.

7. As the flow rate of individual tire valve can vary, allow 10 seconds for
pressures to equalize before disconnecting hoses from the tires.

www.haltec.com i



HALTEC

lcCoORPORATION

5.10 Topping Up of N2 in Mode 6

To top up tires that have previously been inflated with nitrogen, OPS should be
set to zero.

1. Set the final target pressure.
2. Connect hose or hoses to Tires.
3. Turn the Fill control valve handle to ‘FILL’ position.

4. Press (<>) key momentarily. The actual tire pressure will display, the unit will
inflate or deflate to the target pressure.

5. When the top up cycle is completed, the unit beeps and the target pressure
flashes in the display.

6. Turn the Fill control valve handle to ‘STOP’ position.

7. As the flow rate of individual tire valves can vary, allow 10 seconds for
pressures to equalize before disconnecting hoses from the tires. When
topping up a single tire there is no need to wait for pressure equalization to
occur.

www.haltec.com E



6.0 Troubleshooting

HALTECG

CORPORATIOMN

The following chart has been prepared to assist with diagnosis of faults

PROBLEM

No display.

The inflation process does not
commence, even when the
pressure is set and the hose is
connected to the tire.

POSSIBLE CAUSE

Flat battery

The tire is deflated below 3
psi, 20 kPa or 0.2 bar.

The hose connector is faulty.

The unit deflates very slowly. The deflate tubing
Is blocked.
The beeper is damaged.

Low or nil supply pressure.

The unit no longer beeps.
The inflation process
commences but does not

complete.

ER1 Unstable pressure, faulty hose
connector.

ER2 Persistent unstable pressure,
faulty hose connector.
Incorrect supply pressure.
Inflate & Deflate valve
connections are reversed.

ERS3 Low or nil supply pressure.

ER4 Initial or final pressure is too
high, exceeding the maximum
pressure by more than 20 psi,
140 kPa or 1.4 bar.

ER5 Low battery.

ERG6 Programme or PCB Error

ER8 Calibration Error

ER9 Automatic Calibration Check/

Calibration Error

SOLUTION
Recharge/Replace battery
Press (<)

Replace the hose
Connector.

Remove and clean the
silencer plug.

Replace the beeper.
Check the supply
pressure.

Replace the hose
connector.

Replace the hose
connector.

Check the supply
pressure.

Check the valve
connections on the PCB.
Check the supply
pressure.

Disconnect hose
connector, reset
processor by switching off
the power for a minimum
of 5 sec. If error message
reappears, replace PCB.
Recharge the battery.

Reset machine by
switching off power or 5
Seconds. If error message
reappears replace PCB.
Unit requires calibration,
contact your local
distributor or service
agent.

Turn Fill Control valve to
‘OFF’ position, reset
machine by switching off
power for 5 seconds. The
ER9 message will clear
automatically when the
factory calibration is
restored. If the ER9
message continues to
reappear, replace the
PCB.

www.haltec.com



7.0 Wiring Diagram

PUSH SWITCH () H
PUSH SWITCH () H
PUSH SWITCH (+) H

PUSH SWITCH [@H

o ©anrec comp s .
WADE I SNGHPORE

HALTEC

CORPORATION

}-{ push swiick ( (D)

DC INPUT JACK Fuse

=

BUZZER

ﬁ\\\\\\\\\\\\\\\\\\:‘
BATTERY

1
[ I .

LT

1

||

|

il 1N

=

INLET (150 PSI MAX.)

0 TRE

-

DEFLATE

E{ siop swiic ()

www.haltec.com



HALTEC

lcorRPORATIONI

8.0

Warranty

Your Haltec Digital Inflation Equipment is covered
under warranty for 12 months from the date of
invoice, subject to the following conditions:

1. Products
Subject to change without notice. Haltec
Corporation is not responsible for
inadvertent typographical errors or
omissions.

2. Returned Goods
No return goods will be accepted unless
authorized in writing by Haltec Corporation.
All return goods must be shipped prepaid to
the factory, and are subject to a restocking
charge. Special items are not returnable.

3. Warranty
Except where the product has been
damaged by misuse, faultyinstallation,
unauthorised repairs, incorrect maintenance
or accidental damage, Haltec will at its own
discretion repair or replace the defective
product (or pay for the cost of repair or
replacement).

Warranty does not include battery, air
hoses, hose connectors (hose chucks).

Haltec Corporation expressly excludes all other
warranties expressed or implied, including without
limitation the implied warranties of merchantability
and fitness for any other purpose. Haltec Corporation
further excludes liability for consequential and
incidental losses including but not limited to the loss
of profits which may arise out of the breakdown or
failure of any product.

www.haltec.com i



HALTEC

lCORPORATION

9.0 Initial Verification Certificate

PRESSURE GAUGE CALIBRATION

This equipment was calibrated to the national standard
of pressure measurement and conforms to British
Standard (BS) EN 837-1 : 1998. The calibration
equipment used for the test holds a current Acceptance
Test Report 37325-S-P according to CL/CAL/SOP-03 :
2004 and BS EN 837-1 & 3 : 1998.

Manufactured for Haltec Corporation by
Airtec Corporation (Asia) Pte Ltd

67 Ubi Crescent #01-02

Singapore 408560

. Model
(@] 89NT6

Serial No. .................

www.haltec.com i



HALTEC

ICORPORATION

10.0 Glossary & Conversions

Units of Measurement
psi

kPa

bar

atm

Kg/cm2

IP

CFM

LPM

PCB

LCD

Sample Tube

OPS

Target Pressure
Sum Pressure
Threshold Pressure

Conversions

1 psi= 6.8947 kPa
0.0689479 bar
0.06890459 atm

Pounds per square inch
Kilopascals

Barometric

Atmospheres

Kilograms per square centimetre
International Protection Rating
Cubic Feet per Minute

Litres per Minute

Printed Circuit Board

Liquid Crystal Display

Connects the valve block & PCB
Over Pressure Setting

Final Set Pressure

Sum of OPS & Target Pressures
Minimum Pressure for automatic start

0.0703069 kg/cm2

www.haltec.com



Haltec Corporation
Shipping Address:
32585 N. Price Rd.
Salem, Ohio 44460

Mailing Address:
PO Box 1180
Salem, Ohio 44460

Phone: (330) 222-1501
Toll Free: (800) 321-6471 (US & Canada)
Fax: (330) 222-2302

http://www.haltec.com
Haltec Corporation reserves the right to change specifications, modify designs and
discontinue items without incurring obligation and whilst every effort is made to ensure

descriptions, specifications and other information in this manual is correct, no warranty is
given in respect thereof and the company shall not be liable for any error therein.

12/2005 US

HALTEC

CORPORATION

www.haltec.com





